Организаторы муниципального этапа всероссийской олимпиады школьников не несут ответственности за содержание олимпиадных заданий и корректность ключей, т.к. не являются их составителями. Доводим до вашего сведения, что оргкомитет и члены жюри при проведении олимпиад вносили необходимые корректировки в задания и ключи. Представленная версия может не содержать этих исправлений.
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В комплект материалов, необходимых для проведения конкурса, входят:
1. Методические рекомендации

2. Текст задания

3. Лист ответа (для каждого участника)

4. Ключи (для членов жюри)

Методические рекомендации 9-11
Задание по аудированию представляет собой диалог о вкусах двух девушек. Участникам предлагается определить, кому принадлежит приведенная реплика.

Сложность текстов соответствует пороговому уровню В1 по шкале Совета Европы. 

По тематике текст предлагает обсуждение темы общего характера. В текстах может содержаться до 2-3% незнакомых слов, незнание которых не должно препятствовать пониманию текста и выполнению заданий по тексту.

Критерии оценивания: каждый правильный ответ оценивается в 1 балл. Максимальное количество баллов, которое можно получить за данное задание, – 10.
Задания по чтению нацелены на анализ и интеллектуальную обработку информации. В первом тексте Generation Gap учащиеся должны озаглавить каждый абзац текста. Это задание проверяет способность учащихся извлекать из прочитанного наиболее важную информацию. Второе задание по этому тексту носит поисковый характер и проверяет умение учащихся сортировать полученную информацию.

Во втором тексте Family Life предлагается заполнить пропуски. Пропущенные словосочетания даются списком, и их необходимо поместить в нужные пропуски, восстановив нарушенные смысловые связи в тексте.

Критерии оценивания: каждый правильный ответ оценивается в 1 балл. Максимальное количество баллов, которое можно получить за данное задание, – 18.
Лексико-грамматический часть теста (Use of Englsh) проверяет знание английского языка как целостной системы. Задания соответствуют продвинутому пороговому уровню сложности B2 по шкале Совета Европы. Учащиеся должны продемонстрировать соответствующий уровень владения лексическим материалом и умение оперировать им в условиях множественного выбора. Проверяется также владение грамматическим материалом в рамках программы средней школы и умение практически использовать его не только на уровне отдельного предложения, но и в более широком контексте.
Критерии оценивания: каждый правильный ответ оценивается в 1 балл. Максимальное количество баллов, которое можно получить за данное задание, – 35.
Максимальное количество баллов, которое можно получить, – 63.

Всероссийская олимпиада школьников по английскому языку

2011/2012 учебного года

Муниципальный этап

9-11 классы

Listening. Task 1.
Listen to the dialog and decide who – Helen (A) or Bridget (B) the following statements refer to. You will hear the dialog twice.

	
	Helen
	Bridget

	1
	Jack is a good at organizing parties.
	A
	B

	2
	Frankly speaking, I have seen this kind of dress a lot.
	A
	B

	3
	The quality of the cloth is not very good.
	A
	B

	4
	It's not "you" in this dress.
	A
	B

	5
	I do sew, but not very often.

	A
	B

	6
	Why do you tell me how I look and what to wear, are you my stylist or something?
	A
	B

	7
	I read fashion magazines a lot.
	A
	B

	8
	I have always thought you were really nice to me.
	A
	B

	9
	You are used to the thing that everybody looks only at you.
	A
	B

	10
	Don't you know that if you speak so openly, you may hurt people.
	A
	B


Reading. Task 2. 
1. Прочитайте текст “The Generation Gap”. Установите соответствие между заголовками A-G и пронумерованными абзацами текста 1-6. Занесите свои ответы в таблицу. Используйте каждую букву только один раз. В задании есть один лишний заголовок.
	A  One-child families
	C A family as a "community"
	E  All families with one child are bad.
	G My own way – my own decision

	B  Generation gap
	D  The point is understanding.
	F  All families are different
	


1. What really interests me is the notion of a "gen​eration gap", a question modern nowadays. You will hardly find a boy or a girl satisfied with their parents. Neither will you find a grown-up, a parent not grumbling over "younger generation" or their children. It seems that there's complete misunderstanding in the families where parents don't understand their children and where chil​dren don't understand their parents...
2. Then, maybe, our family is an ideal one? Oh, no! We are not the museum relics that are to be stared at and be pointed to... Not in the least! I suppose that being good friends should become a norm for every family. We are a large family. You know we have practically no prob​lems with understanding each other in our family. We see our parents as our friends and so do they. They are easy to get on with and we would always come to them first if we had any serious problem to be solved. We do have some arguments, there are even long debates sometimes and from time to time we cannot come to agreement. It would be rather odd if everybody in the family always agreed with each other, shared all interests, were satisfied with ev​erything and never quarrelled. 
    3. It takes our parents quite a while to get used to new pop music we listen to and to some ultra-modern clothes my brothers sometimes put on. But they never forbid us to have our own way, they give us freedom. It doesn't mean that we can do every stupid thing and they only leave it unnoticed. But, on the other hand, we can take some decisions on our own. In case they disagree with anything we want or decide they try to ex​plain us why this or that is impossible. They never forbade us to have a pet, for example, but when we were too small to take care of it, they gave us to understand that they had no time to do it and we decided to take it when we grew up a bit. Sometime later we took a dog that is now a member of the family. It was our deci​sion, and the parents didn't prevent us from tak​ing a pet. But they insisted that if we took it, then we were to walk it, to feed it, to take care of Bruce (that's our dog's name).
4. Maybe the "generation gap" exists in one-child families, since at first parents pay too much at​tention to every wish of an only child, giving the baby everything he wants, thus spoiling the baby. And when "the product" of their "stupid" love -the grown-up child - is no more "a little sweet​ie", the parents come to understand that he has become "an awful egoistic monster who never cares about anybody but him – or herself.
5. Such a situation is not too frequent in families with two or more children, I believe. That is due to the fact that parents should share their love with all children, and every child in such a family un​derstands that he or she is not the hub of the uni​verse. They are used to taking care of each other since their childhood and they learn to live in a "community" where every member is equal and so, to my mind, the atmosphere in such families is much healthier.
6. Of course, it would be wrong to suggest that all families with one child will necessarily end in the parents' disappointment in their offspring, but if this is the case it's likely to happen in a one-child family rather than in a large one. The point is ar​guable, I know, and I don't pretend to be an au​thority on the subject. Anyway, that is how I feel about it...
2. Определите, какие из приведенных утверждений 1-6 соответствуют содержанию текста (right), какие не соответствуют (wrong), и о чем в тексте нет информации (doesn’t say)
1. The generation gap is a problem for the family described in the text.
2. The parents are their children‘s real friends.
3. The author and his brother had no problems to get on with because they were twins.
4. The children were forbidden to have a pet until they’d grow up.
5. In one-child family the child is usually spoilt.
6. The generation gap is more frequent in families that have only one child.

	
	A
	B
	C

	1
	Right
	Wrong
	Doesn’t’ say

	2
	Right
	Wrong
	Doesn’t’ say

	3
	Right
	Wrong
	Doesn’t’ say

	4
	Right
	Wrong
	Doesn’t’ say

	5
	Right
	Wrong
	Doesn’t’ say

	6
	Right
	Wrong
	Doesn’t’ say


Task 3. Прочитайте текст и заполните пропуски A-F частями предложений, обозначенными цифрами 1-7. Одна из частей в списке 1-7 лишняя. Занесите цифру, обозначающую соответствующую часть предложения, в таблицу.
    A "typical" British family (A) ___ mother, father and two children, but in recent years there have been many (B) ___   life. Some of these have been caused by new laws and others are the result of changes in society. For example, since the law made it easier to get a divorce, (C) ___ .
     Another change has been caused by the fact that people are living longer (D) ___ and many old people live alone following the death of their partners.
     In general, each generation (E) ___ in establishing its own family unit, and this fact can lead to social as well as geographical differences within the larger family group.
     Relationships within the family are different now. Parents (F) ___ more as equals than they used to, and children have more freedom to make their own decisions. 
1. nowadays
2. used to consist of 
3. the number of divorces has increased
4. treat their children
5. bringing up
6. is keen to become independent of parents
7. changes in family

	A
	B 
	C 
	D 
	E 
	F 

	
	
	
	
	
	


Use of English. Task 4. Fill in the gaps with the verbs from the right column in the appropriate tense form. 
	
	1) to express

	
	2) to dream

	
	3) to give

	
	4) to go

	
	5) to be

	
	6) to seem

	
	7) to start

	
	8) to need

	
	9) to come

	
	10) to have

	
	11) to arrive

	
	12) to undercharge

	
	13) to owe

	
	14) to decide

	
	15) to spend


This summer I thought I'd like to take my wife and daughter to visit the Greek Islands. I must confess that they never (1) ___any particular desire to go there, but it is the part of the world that I always  (2)___of.
               At the travel agency, a young woman (3) ___me all the details of the organised holidays, and I (4)___home with a lot of attractively illustrated brochures. My wife and daughter's reaction (5)___ rather unexpected. Although they (6) ___very enthusiastic about the idea, they (7)___a heated discussion as to what clothes they (8)___ .They soon (9)___to the conclusion they (10)___to buy a vast range of new items. And when the next morning a letter (11)___from the Income Tax Office informing me that, due to a misunderstanding, they (12)___me the previous year and that I (13)___them $400, I (14) ____that I'd better change my plan.
         So this year (15)___ our summer holiday as usual, with my wife’s relatives at the seaside.

Task 5. Choose the correct variant.
1. Children should be taught to treat older people with ___
A  respect В  aspect  С  suspect
2. Many 19lh century travellers wrote fascinating accounts of their ___ that are still worth reading.
A  routes  В   ways  С journeys
3. When Alfred Nobel died an annual peace prize was ___ in his memory.
A  established  В   keep  С  hold
4. Anyone who rents a house is under an obligation to ___ it clean and tidy.
A have   В keep   С hold
5. Many people believe that inflation lead to ___ decline.
A  economical   В   economics   С  economic
6. These days there are more and more career ___ for women.
A  opportunities   В   capabilities   С  capacities
7. This year the world ___ tennis championship will take place in Paris.
A  inner    В   indoor   С   inside
8. The conference was_____by both government officials and prominent academics.
A entered   В present   С  attended
9. Eating healthily and____regular exercise are the only reliable methods of losing weight.
A  taking   В   making  С  standing
10. The ___ we do today won't be very interesting but the results will be useful.
A experience    В experiment   С  device
Task 6. Fill in the gaps with one suitable word in an appropriate grammar form.
        The (1) ___ of television on people's behaviour is great. Most young children watch TV for many (2) ___ every week. They watch it long before they have any real (3) ___ of what they are (4) ___ They often watch programmes that are not meant for them. They watch programmes that are meant for adults. Perhaps they stay up late and watch films containing violence. There is now a lot of evidence to show that they are often harmed by seeing such things.
        There is now more crime and (5) ___ in our society than ever before. Everyone is worried. Everyone is (6)___ to go out at night. These are (7)___ times we live in. This is also the time when more and more people are watching violent films on television. Certainly there is a direct (8) ___ between the films that people watch on TV and the violence that is in the streets. For example, a child may see a bank robbery in a film. The child (9) ___ from the film how to rob a bank. There have been many cases reported in the newspapers where such things have actually happened. Professor Ivor Mills (Cambridge University) has proved that many young people become too excited by violent films and when the film is over they go out and (10)___ criminal acts.
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LISTENING COMPREHENSION SCRIPT

Task 1

Listen to the dialog and decide who – Helen (A), Bridget (B) the following statements refer to. You will hear the dialog twice.

Bridget: Oh, hi Helen! Nice party, isn’t it?

Helen: Hi, Bridget! Yeah, right!

Bridget: Nice people here today. The music is good and the food… Jack is a good at organizing parties.

Helen: I am very glad that I have come.

Bridget: You know, I hate telling compliments but as a girl to a girl, “You look great”! But, Helen, I must tell you something…

Helen: What’s wrong, Bridget? Are my clothes dirty or something?

Bridget: No, no, nothing of the kind. Frankly speaking, I have seen this kind of dress a lot. And it seems everyone is wearing it these days. And it’s too long for you, isn’t it?
Helen: Is it that bad? I thought it was cute…
Bridget: I think, you have to take it back to the shop. If it costs a lot, it’s not worth it and you have to get the money back.
Helen: It was sewn.
Bridget: Oh, I'm sorry. I didn't know. Anyway I shouldn't probably tell you this but the quality of the cloth, I don't know, it is not very good...
Helen: Are you sure? That can't be so. I bought that cloth in a good shop which you had recommended! Remember?

Bridget: Oh, really? Then maybe the dress doesn't fit you well. It's not "you" in this dress. I want to look at the person who sewed it.

Helen: You are looking at this person right now, actually.

Bridget: Oh, I am terribly sorry. I didn't know that you sew.

Helen: It's OK. I do sew, but not very often. It doesn't matter, actually. You are very bad at telling compliments, Bridget, I must say.

Bridget: Oh, I am sorry, but I thought you would like to know that.

Helen: Yes, I would. No problem. Anyway, don't you think that it's not the right place and time to tell me this?

Bridget: But if not me, who would tell you this? Next time you would hear it from somebody else.

Helen: Oh, thank you very much. But you know, why do you tell me how I look and what to wear, are you my stylist or something? You are not even my best friend to tell me such things. And what do you understand in dresses and fashion?

Bridget: I think, much more than you do...

Helen: Really? How do you know? Is it just because you watch a lot of fashion programmes?

Bridget: Yes, because of fashion programmes and because I read fashion magazines a lot.

Helen: I see, but the thing is that it doesn't look like you watch any or... they just don't help you much...

Bridget: Why?

Helen: I think, because if you read fashion magazines or watched any fashion programmes you would know that this cloth, colour and style are very fashionable this season. And you are trying to make fun of my outfit. I have always thought you were really nice to me.

Bridget: I really am, Helen.

Helen: Oh, come on. I think you are just being jealous. You like my dress, but you are used to the thing that everybody looks only at you. I heard that you are like this, that you are "very kind" at giving compliments to girls... but I didn't believe it. Now I know it.

Bridget: Oh, that's interesting!

Helen: And you know what, Bridget?

Bridget: What?
Helen: Nothing, just watch your words. Don't you know that if you speak so openly, you may hurt people. Anyway I don't care much about what people think, I don't care what you say, actually. Moreover, I think my fashion sense is pretty good.

